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CBT Practice test model answers

Indirect tax (ITX)

Practice assessment 1
Section 1

Task 1.1

[image: image2.png](a) Which of the following statements is TRUE about the business? Choose ONE answer.

Itwill have to register for VAT at some pointin the next 12 months.

Itwill not be eligible to register for VAT in the next 12 months

It may register for VAT voluntarily at any time.

Itshould wait until itis advised by HURC to register for VAT.

(b) Which of the following statements is TRUE regarding a visit by a VAT officer to a VAT-registered
business? Choose ONE answer.

HHRC will not usually give the business nofice of the officer’s visit

‘The VAT officer can question the person responsible for keeping VAT records

HHURC has to inform the business of the grade of VAT officer on the visit but not his or her name.





Task 1.2

[image: image3.png](a) Complete the following sentence:

Recording the credit note will [decrease outputtax.

‘The following sequence of events has taken place in 3 VAT-registered business:

1. Aproforma invoice was issued on 10 November 20X0.
2. The customer paid the invoice on 15 November 20X0.
3. AVAT invoice was issued on 17 November 20X0.

4. The senices were supplied on 20 November 20X0.

(b) Whatis the tax point of this supply?

5] November 200





Task 1.2, continued
[image: image4.png](c) Is this a valid VAT invoice? Choose ONE answer.

Yes, itis afull VAT invoice:

Yes,itis a simplified VAT invoice

No,itis not a valid VAT invoice

A business only supplies services that are exemptirom VAT

() Show whether the following statement is TRUE or FALSE.

“This business cannot register for VAT.






Task 1.3
[image: image5.png](a) Which of the following schemes is being used? Choose ONE answer.

Fiatrate scheme.

Annual accounting scheme

Cash accounting scheme.

Abusiness submits its VAT retum late. All previous VAT retums have been submitted on time.

(b) Which of the following statements is TRUE? Choose ONE answer.

The business will receive a ‘Surcharge Liabilit Notice".

The business will be liable to a penalty.

The business will be liable to a surcharge.

(c) Identify whether the following statement is TRUE or FALSE.

Advising HIIRC 35 S00n as you are aware of an inaccuracy on a VAT return may reduce any penalty due.





Task 1.4

[image: image6.png](a) Identify whether input tax can be reclaimed by a VAT-registered business in each of the following
circumstances:

YES, input tax NO, input tax
n b a imed

Circumstans

lInput tax on the purchase of a car for use
in a driving instruction business

lInput tax on the purchase of a van for use
in a construction business

Inputtax on the purchase of a car for use
loy an employee in an accountancy training business

Abusiness operates a number of vehicles and pays for all road fusl for each of them

(b) Which of the following is an acceptable way of dealing with the input tax on the road fuel? Choose ONE
answer.

Keep detailed records of business and private mileage and reclaim all of the inputtax.

Paythe appropriate fuel scale charge and reclaim all ofthe inputtax.





Task 1.4, continued 

[image: image7.png]In February 20X1 3 business discovers the following non-careless, non-deliberate errors in ts records:

+ Acreditnote from a supplier recorded in August 20X0 included VAT of £54.00 when the amount should
have been £45.00.

« Aninvoice flom a supplier recorded in October 20X0 was included n the purchases day-book twice. The.
VAT was £19.62.

() Complete the sentence to show how the next VAT return will be affected by the net error.

1062






Task 1.5

[image: image8.png](a) Whatis the amount of VAT to be shown on the invoice, correct to TWO decimal places?

£ [6255

Abusiness has completed its VAT return for th latest quarter. It correctly shows an amount due to HIRC of

£5,331.00. The VAT account atthe end of the same period shows an amount payable of £7844.00.

(b) Which of the following explains the difference? Choose ONE answer.

The VAT payment of £2513.00 for the last quarter was omitted from the VAT account

The VAT payment of £2513.00 for the last quarter was included twice in the VAT account





Section 2
Task 2.1

[image: image9.png](a) Calculate the figure to be reclaimed as bad debt relief on the VAT return.

= [96025

(b) Calculate the figure for Box 1 of the VAT Return - VAT due on sales and other outputs.

= [131160

(©) Calculate the figure for Box 4 of the VAT Return - VAT reclaimed on purchases and other inputs,





Task 2.2

[image: image10.png]‘Complete boxes 1 to 9 of the VAT Return for the quarter ended 31 July 20X0.
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Task 2.3

[image: image11.png]Draft an email to the financial accountant advising her of the amount of VAT that will be paid or received
and the date due.

To: [Financial Accountant

II

From: [Accounting Technician g

Date: 15 September 20X0 v

Subject  Completed VAT Return

Please be advised that | have just completed the VAT Return for the quarter ended [31 August 20X0.

he amountorvaT [payane [l winee £ [5353

[Fiosossrang o pay i echonicaly o v o e an Ocaber 250Kl

Kind regards,
A Technician





�Rounding – Boxes 6-9





This model answer shows the figures in boxes 6-9 rounded up, however figures rounded down are equally valid for the purposes of this assessment.
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